NG FL

3KOYZMR
Hahfeta oder - I, 2013
SUMMATIVE ASSESSMENT -~ I, 2013
fagr 7 / SCIENCE
et - IX / Class - IX
foryiia 999 : 3 90 31fireRam 31 : 90
Time Allowed : 3 hours Maximum Marks : 90

qmErg 3 :

General Instructions :
= ¥e T T 21 W, WRT-31 i Wi § e v ) et S i ¥ WER % IO ot B

The question paper comprises of two Sections, A and B. You are to attempt both the sections.

weit W Afar €1
All questions are compulsory.

T MRT-37 3 AT T W & SO 9U% - 94F faed e
All questions of Section-A and all questions of Section-B are to be attempted separately.

37 ¥ W T 1 3 F 9 - 30 h ¢ T T O v T TR A i €
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

TET-37 & T T 4 Y 6% W o1 & afent T O @ 30-30 ITEal A <)
Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered in
about 30 words each.

T2 ¥ W e 79 18 e - A st & 8 = IO TN 50-50 YR A Q|
Question numbers 7 to 18 in Section-A are three marks questions. These are to be answered
in about 50 words each.

w31 ¥ S HET 19 ¥ 24 F oA afa- uiw il & ¢ =7 TR ST 70-70 T O €
Question numbers 19 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

m—aﬁ?wmﬁ%ﬁ%wmaﬂwmmﬁﬁa@ﬁmw%l e W T
uF HH FE ﬁqrﬁmﬁwﬁﬁéa@ﬁawn@mﬁmﬁw%

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate response
out of the four provided to you.
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Question numbers 34 to 36 in Section-B are questions based on practical skills are two marks
questions.

HAT-31 / SECTION-A

[y

1 T A & T w0 1 AW TaE o 5 T aeE 8 B F e 6 6| T T
gl @A fafEa)

Name a tissue of higher plants which enables them to survive in terrestrial environment.
Mention its distinctive feature.

2 Mm%mﬂaﬂwaﬁaﬁwwn@mmw%w%mﬁnﬂﬂﬁmﬁ"&? 1

What is the numerical ratio of average velocity to average speed of an object when it is
moving along a straight path ?

3 Tferi aen well g R TR & e el wie 2 T2 1
State the kind of nutrients provided by vegetables and fruits ?

FAfortEs Fiense o QRiwE W T afRare AT TEe : 2
(a)  FEU

(b) TR

Identify the dispersed phase and dispersing medium in the following colloids.

(a) fog
(b} Cheese

5 91 BT It e § S v Iufed ¥ 7 W FINT | 2
What would happen if lysosomes did not have any enzymes in them ? Explain.

6 e & i 9 Tor Tt | 2

State any two properties of gravitational force.

7 (@) Wﬁlﬂmg,ch%Wm:zgsk,amkammﬁl il & =il % 7 ed 3
S EE ¥ STHR W SR Sared it
(b) () LP.G. a9 (i) CN.G. FI' am fafet |
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(a) Melting points of three solids A, B and C are 298K, 310K and 400K respectively.
Arrange these in increasing order of force of attraction between the particles of solid.
(b)  Write full form of (i) LP.G. (i) CN.G.

g (a) o Sen T weR % @ T we = Fifda am i s fated
(b) v S w Al ag HCl Ten S A F 6 s di . s 9 e fafeE
(a) Name the compound formed on heating a mixture of Iron filing and sulphur.

(b)  If dilute HCl is added to above compound then name the gas evolved and write down
its two properties.

9 e ¥ Taars 59 @ @ o 3 dmina 4 fifea 94 | SR T 3R FH a6EW g o
ot e | e 3 g = FachoRt S99 TEER 3 e w e SR R 59 9 gy e Tt
feani
(a) 5 W w1 A et (e gr 36 Hee w1 g9 | U A
(b) 39T oI 1 U S AT e
() fifEe % =aeer § FF § ed werhd 87
Nikhil's father was suffering from high blood pressure and cardiac problems. Doctor
suggested him to take low fat milk. Nikhil churned the milk and separated the butter (fat)
from it and then he served that milk to his father. Answer the following questions based on
above information :

{a) Name the tecnique by which Nikhil separated butter from milk.
(b) Write any other application of that technique.
(c) Which values are reflected in Nikhil's behaviour ?

10
Ferettetraa & Sl % FHR ! UEar BT : L
()  pErEl e
(b) e Ufd HI ARTFE
@ FEw R
Identify the type of tissue in the following :-

(a)  Bronchi of the lungs.
(b)  Ducts of salivary glands
{c) The lining of the mouth =
W R S fatay | e A SRR g e § e E 2
: ‘:,}“\\] ,».."}
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Define osmosis. In what two ways it is different from diffusion.

=6 % T WS F WS F U - U ST aF T HifE)
Describe any three effects of force with the help of one example each.

13 o R S AR ¥ 2 T o gl # w0 W R 20 N | S HOHGE I
feern BRT 7 geEt WX iR TEA W 39 25 o 96 S | (92t TR g =10 m s™2 ST TFHA T
e T SHE 1/6 TN E )
What is meant by free fall ? An object weighs 20 N on the surface of the earth. What would be
its weight when measured on the surface of the moon and also find the mass on earth and
moon ? (g on earth is 10 m s™2 and on moon it is 1/ 6% of this value)

14 T T S TEEEE wia T e S T i Tia & A o gHiE sl
fafau
Define uniformly accelerated motion and uniform motion. Also write any two equations of
uniformly accelerated motion.

15 ey & = St it at e = fEree-
(a) U fpami E i ] e EE A S HEH T A |
(b) ﬁaﬁmﬁmﬂmﬂhmﬂgﬁﬁﬁmtﬁmﬁﬁa@ g O
e o | Fred € |
Give reason and give the law related to these statements-
{a) Tt is easier to push an empty box than to push the box full of books.
(b) It is difficult for a fireman to hold a hose which ejects large amount of water with high
velocity.

16 “a“fa{amaq%ﬁ%alﬁW%ﬁﬂmﬁmﬁmﬁﬁqﬁﬁﬁﬁ”lﬁhﬁﬁﬁwmﬁmﬁ
fefam 1
“The putritional requirements of broilers are different from those of egg layers”. Mention the
three different nutrient requirements.

17 ﬁ@ﬂh#ﬂmﬁﬁﬁwﬂ%ﬁﬁﬁ%@?ﬁ%ﬂmﬁﬁw%lﬂﬁiﬂwﬁéﬁﬁiw
Eazic mm%m%ﬁﬁlwﬁm#ﬁmmﬂﬁmmﬁmmﬁﬁ
w HY AP 4 I S W 6 iR 39 o 3 THHEd |
There is a water reservoir near the village and a river flows near the village. Due to
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18

19

20

msufficient rain farmers are worried about their crops. Suggest and explain the irrigation
practice that can be adopted to supply water to the entire agricultural land in the village.

FI% T e § sifasa 9 79 gedt uRet = 2uEm frar s ) 3

(i)  TR! %1 e TR ?
(i) = T geR WSS 3 IUERT Sy W 67
(i)  IEAEN T E?

Neem and turmeric powders are often used in grain storage.
(i) What are they called ?

{ii) What is the purpose of using neem and turmeric ?
(i) ~ What are herbicide ?

(a) - TaE=m =i 5 fFe YoR amdE o 9a8 & 9iEeT § 99 5 5990 o @i S

e 7
(b) T wifae fE e wUe e o i @ w6 g e €2
(a) Comment how evaporation is a surface phenomenon whereas boiling is a bulk
phenomenon. G

{b) Explain why wet clothes dry faster when we spread them out ?

a)/ i w1 fagw & 99 T oA elall ) wftefas wv F fafag) 5
frfataa =1 Wifes g gamaf s § e sifb .
(i)  HrFEd S S
(i) = g
(i) e =i wd = w
FYE T TT HispT TS

(iv)
/({} Write in tabular form any three differences between compound and a mixture.
(b)

21

Classify the following into physical or chemical change -
(i) burning of a candle

(if)  freezing of water

(i)  mixing of iron filings and sand.

(ivi  fading of clothes

G) a1 it fafae | agEie SiEl 5 Sael ol ¥ S § 7 5
(i) T U ofR W O € oE S Tasl 9 9 2 & 2 3 AE A faee & A g fafa

i} Define tissue. What is the utility of tissues in multicelluler organisims ?
(i)  Are plant and animals made of same types of tissues ? If no, then. Write three points of

difference.
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(c)

(a)
(b)

o =% 72 Fe/ s % A | e ¥ 3 R W 3 dEe F 75 ©% 9@ &1 9 50
ST T S TRt i | 2% &1 7eAHA 1200 FH.IM €1

Newton's first law of motion is also called law of inertia. Justify this statement
A plastic ball and a cricket ball are rolled on the floor with same velocity. Which one

will cover larger distance before stopping ? Give reason.

()

A truck is moving with a velocity of 72 km/h and it takes 3s to stop after the
brakes are applied. Calculate the force exerted by brakes. Mass of truck is
1200 kg

23 #ﬁErﬁW%@Tﬁ'"u”'&Wé‘ﬁﬁﬁimmﬁr%ﬁmtwﬁw@ﬂm”aﬁmﬂfﬁnm 5
F B

(a)
(b)
(©)

TR ST-THE TTE EET

%ﬁ—m#ﬁiﬂ%mwmﬁﬂﬁnﬁmnmwﬂmwwﬂﬁmﬁﬂﬁm
szsa?énﬁwﬁraﬁawaﬁﬁaaﬁﬁ&ﬁlumgsﬁqﬁﬁsﬂ%mmmﬁ
ifAT |

An object starts a linear motion with velocity “u” and with uniform acceleration “a” it
acquires a velocity “v” in time £

(a)
(b)

(©)

24 (a)
HiTAd |

(b)

(©)
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Draw its velocity-time graph

Obtain Ist equation of motion, V = u + at, for velocity — time relation by using
velocity time graph.

A body moving with a velocity of 2 m/s acquires a velocity of 10m/s in 5s. Find its
acceleration.

wﬁﬁamqm@uﬁﬁmmwﬁﬁm sagaE AE & omar | fadea 5

e i e T el ) e s e e e 3 i i
() A a %
(i) B (v) eREE

el B 7 T S ST P ST BT €7
Distinguish between macronutrient and micronutrients on the basis of

(i) their functions (i) ~ amount required by plants.




(b)  Classify the following elements as macro or micro nutrients in plants.
(i) Nitrogen (iiy Zinc r«
(itiy Copper (iv)  Potassium

(c) In what way deficiency of these nutrients harmful to crops 7

4T-&/ SECTION - B

Wﬁmﬁﬁqﬁ?@ﬁﬁaﬁﬁﬁﬁiﬂﬁwﬁﬂﬁﬁw:ﬁ%ﬁﬂﬁFﬁfﬂﬁ%: 1
(@) 5gBaia I H 5g T Bl W ¥

(b) 5 mL = Fad 2 9% Wiz sRSEE w7 % g, § 5 g I TRl S

(@ 5mL¥@ ¥ 5g A a1 S Sl €

(d) 5 ml. 7 RS 35 # 5g TIE Sl Wl ¢ |

Given below are the four methods of testing the presence of metanil yellow in a given sample
of arhar dal. The correct method is :

(a)  5gof dalis added to 5g metanil yellow

(b) 5¢ of dal is added to 5 mL of water along with 2 drops of conc. hydrochloric acid.

() 5¢ of boiled dal is added to 5 mL of water

(d)  5gofdalisadded to 5 mL of diluted hydrochloric acid

26 m%mwﬁﬁg,ﬁamcmﬁmﬁﬁﬂm%ﬁm%ﬁﬁgmmﬁww 1
T TF Aue O 98 SEE e W S | T A 991 B # ey e 1 e g we
vl B e & T 1 el w5 8wl ¢
(a)  <Ed, <, 3l (by  IFEE, e, G
(c) T, =, JEe (d) o, dEe, 3]

Aditya added 1 or 2 drops of iodine solution to three test tubes A, B and C containing 2mL of
food extract of various kinds. A dark blue colour appeared in fest tubes A and B. The correct
order of food samples taken in the three test tubes can be:

(a) Rice, dal, potato (b) Rice, potato, dal
(c) Potato, dal, rice (d)  Dal, rice, potato

27 a0 e weet @ guw e ¥ faw v el e 1
(@) =T few H o
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(d) =@ % Wy 7w

Suggest a method of separating iron filings from sulphur powder :
(a) Heating in a china dish
(b)  Heating in a boiling tube

(c) = Moving a magnet through the mixture

(d)  Heating with water

28

(a) I By =K (c) I (d)
Four safety symbols for carbon disulphide are given below :
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The most appropriate symbol for carbon disulphide is :
2y & y I () HL d IV

g A U W m[.éﬁmaﬁr{ﬁ:ﬁﬁm?ﬁszﬁﬁmaﬁﬁfm =Ten oen dfE fE 1
5

(a) e s e W i g

(b)  aeETe # g e T 3 T a6 |

(c) e =1 <1 e B Sl g

(d) T ThE 3 T 9B W €

Rahul added 2mL of barium chloride solution to amL of sodium sulphate solution in a test

tube and observed that

(a) a clear solution is obtained

(b)  two solutions form separate layers in the test tube
{c) the solution turns pink

(d)  awhitesolid settles at the bottom.

30 A 6T B 1 T A €
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(a) MNucleus, cytoplasm (b) Mucleus, vacuole

(c) Vacuole, nucleus (d)  Cytoplasm, vacuole

31 Forerforfas o3 & A 99 B %1 S8 THEA © -

() A-%=H, B-IIEE (b) A-SFEZ,B-THE
()  A-dbmEm, B-F=® (d) A-IgEB-FTF
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In the following diagram; the correct labeling for A and Bis:

A

{a) A - Nucleus B - dendrite (b) A - Dendrite B - Axon
(<) A - Axon B - nucleus (d) A - Dendrite B - nucleus

32 HHEIE FARGES, el 991 THE F HEw 8 e wiEe # Es FE F fe e g e 1
ST YL B
(a) ==, =g fEw, =iy
(b) == A, FiY, T F T
() = few, F9, ¥ w1 o
(d) =Y, Treey o=, it
Minimum apparatus required for separating ammonium chloride from a mixture of
ammonium chloride, sand and salt would be :
(a) beaker, china dish, funnel
(b)  watch glass, funnel, cotton plug
(c) china dish, funnel, cotton plug
(d) funnel, filter paper, beaker

33 FAMIER g SR 7S W 1@ wHel % 125 &1 Gig & fag fo 8 § #F-91 o 5 79 82 1]

(@) IR GEY B ey (b) e e 2 =R
(¢ o Faee gt = (d) B S TeE O giEt B e

For pulling a wooden block placed over a table with the help of spring balance. Which of the
following statements is not correct ?

(a) Block should be rough (b) Block should be smooth
(c) Table should be smooth (d)  Block and table both should be rough.
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Yfira Fifsrw) Fredy, st aun foeam @ waR &1 T Freifem

Four students A, B, C and D were given funnels, filter paper, test tubes, test tube stands,
common salt, chalk powder, starch and glucose powder. They prepared the true solution,
suspension and colloidal solutions. Test tubes were arranged as shown in the figure. Observe
the filtrate obtained in the test tubes and residue on filter paper. Conclude about filtrate,

residue and type of solution.
T Sl
Parme]
T \
Al e AL e
o= ‘—L} :*r
% e '%':_";f‘" = = w::" .:|_._—:_—:-‘LJL e
35 9w %1 e T S 61 FauE o At o St § ke 2

Write melting point of ice and boiling point of water in degree Celsius and Kelvin scale.

36 A B 3N CUSE IE 1 9 3AE 1 U Feahet 4 ) feufe W S F awE W2
s we o frE = A ¥ 10 fire & foru frwfe # BFET, B 4 Ta9 3R C 7 60
fire & fou TEOGRET ® faEn awvEE Sed fevi g smvifE we 1 e
gftEmfad Fil
s/ e vl & I fafae-

(a) S wm o Frufnyl omvifid e @Y Sfumen wovmm Jui ¥ SEE Am

fefam)

b) o BE F Pew sEvifid S S <A AR avi € e T )
Three students A, B and C were given five raisins each of equal mass. The raisins were soaked
in distilled water at room temperature. A soaked the raisins for 10 minutes, B for overnight
and C for 60 minutes. Then they calculated the percentage of water absorbed by raisins.

Now answer the following questions:-

{a) Name the student whose raisins will show the maximum percentage of water

absorbed.
(b} Name the student whose raisins will show the minimum percentage of water

absorbed.
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